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Time : 3 Hrs.		  Maximum Marks : 90
fuèkkZfjr le; % 3 ?kaVs			   vfèkdre vad % 90
General Instructions :
1.	 The question paper consists of 2 sections - Section A (having 27 questions) and Section B  
	 (having 12 questions).
2.	 All questions are compulsory.
3.	 There is no  overall choice. However, internal choices have been provided in three questions  
	 of 2/3 marks category and all the six questions of five marks each.
4.	 All questions of Section A and Section B are to be attempted separately.
5.	 Questions 1 to 4 in Section A, and Questions 28 and 29 in Section B, are multiple choice type  
	 questions and carry 1 mark each.
6.	 Questions 5 to 10 in Section A, and Questions 30 to 32 in Section B, are very short answer  
	 type questions and carry 1 mark each.
7.	 Questions 11-16 in Section A and Questions 33 to 35 are short answer type questions and  
	 carry 2 marks each.
8.	 Questions 17 to 23 in Section A, and Questions 36 and 37 in Section B, are also short answer  
	 type questions and carry 3 marks each.
9.	 Question 24 to 27 in Section A, and Question 38 and 39 in Section B, are long answer type  
	 questions and carry 5 marks each.
lkekU; funsZ'k %
1-	 bl iz'u&i=k ds nks [kaM gSa&[kaM ^v* (ftlesa 27 iz'u gSa) vkSj [kaM ^c* (ftlesa 12 iz'u gSa)A  
	 vkidks nksuksa gh [kaMksa ds iz'u djus gSaA
2-	 lHkh iz'u vfuok;Z gSaA
3-	 lkefxzd fodYi ugha fn;k x;k gSA rFkkfi 5 vad dh Js.kh ds lHkh N% iz'uksa rFkk 2@3 vad dh  
	 Js.kh ds 3 iz'uksa esa vkarfjd fodYi iznku fd, x, gSaA
4-	 [kaM ^v* ds lHkh iz'u vkSj [kaM ^c* ds lHkh iz'u vyx&vyx djus gSaA
5-	 [kaM ^v* esa iz-la- 1 ls 4] rFkk [kaM ^c* esa iz-la- 28 vkSj 29] cgq&oSdfYid iz'u gSa ,oa buesa ls  
	 izR;sd dk 1 vad gSA
6-	 [kaM ^v* esa iz-la- 5 ls 10 rFkk [kaM ^c* esa iz-la- 30 vkSj 32 vfr y?kw mÙkjkRed iz'u gSa ,oa  
	 buesa ls izR;sd dk 1 vad gSA
7-	 [kaM ^v* esa iz-la- 11 ls 16 rFkk [kaM ^c* esa iz-la- 33 ls 35 y?kwÙkjkRed iz'u gSa ,oa buesa ls  
	 izR;sd 2 vadksa dk gSA
8-	 [kaM ^v* esa ç-la- 17 ls 23 rFkk [kaM ^c* esa iz-la- 36 vkSj 37] Hkh y?kqÙkjkRed iz'u gSa ,oa buesa  
	 ls izR;sd iz'u 3 vadksa dk gSA
9-	 [kaM ^v* esa ç-la- 24 ls 27 rFkk [kaM ^c* esa iz-la- 38 vkSj 39] nh?kZ mÙkjkRed iz'u gSa ,oa buesa  
	 ls izR;sd iz'u 5 vadksa dk gSA
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section - a ([kaM&v)

1.	 The force of  fr ict ion that comes into play,  when one body rolls 

over the surface of another body is known as 				     

(a)	 Sliding friction	 (b)	 Rolling friction		   

(c)	 Static friction	 (d)	 Fluid friction	  

tc ,d oLrq fdlh vU; oLrq dh lrg ij yksVrh gS rks nksuksa oLrqvksa ds chp esa yx 

jgs ?k"kZ.k dks 							        

(a)	lihZ ?k"kZ.k	 (b)	 yksVfud ?k"kZ.k				  

(c)	 LFkSfrd ?k"kZ.k	 (d)	 rjy ?k"kZ.k				  

dgrs gSaA

2.	 A seismometer helps geologists to 	  

(a)	 predict when an earthquake is likely to occur		   

(b)	 find out the source of seismic waves	 	  

(c)	 predict the focus of the next earthquake					      

(d)	 estimate the change in earth's magnetic field.	  

Hkwdaiys[kh midj.k dk mi;ksx oSKkfudksa }kjk fdl fy, fd;k tkrk gS\			 

(a)	Hkwdai dh laHkkouk dh Hkfo";ok.kh ds fy,A							    

(b)	Hkwdaih; rjaxksa dk L=kksr tkuus ds fy,A							     

(c)	vxys Hkwdai ds iQksdl dh Hkfo";ok.kh ds fy,A						    

(d)	i`Foh ds pqEcdh; {ks=k esa ifjorZu dk vuqeku yxkus ds fy,A

3.	 Vanmahotsava is normally celebrated every year in the month of 		   

(a)	 March	 (b)	 December		   

(c)	 July		  (d)	 January	  

ou egksRlo lkekU;r;k izfr o"kZ fdl ekg esa euk;k tkrk gS\				  

(a)	ekpZ		 (b)	 fnlacj					   

(c)	 tqykbZ	 (d)	 tuojh
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4.	 The material used in extraction of metals is 	  

(a)	 coal		  (b)	 coke	  

(c)	 coal tar	 (d)	 coal gas	  

èkkrqvksa ds fu"d"kZ.k esa dkSu lh lkexzh iz;qDr dh tkrh gS\		  

(a)	dks;yk	 (b)	 dksd						   

(c)	dksy rkj	 (d)	 dks;yk xSl

5.	 Why are rear wheels of buses and trucks usually double?	  

clksa vkSj Vªdksa ds fiNys ifg;ksa dks lkekU;rk nksgjk D;ksa j[kk tkrk gS\

6.	 State the location of the epicentre of an earth quake with respect to its focus.	 

fdlh HkwdEi dk vf/dsUnz mlds iQksdl ds lanHkZ esa dgka fLFkr gksrk gS\

7.	 What do you understand by "electromagnetic induction"?	  

vki ¶fo|qrpqEcdh; izsj.k¸ ls D;k le>rs gSa\

8.	 Coal is burnt in thermal power plants to generate electricity. Name the two main 

gases released in this process.								      

dks;ys dks rkih; fo|qr la;a=kksa esa fo|qr mRiknu ds fy, tyk;k tkrk gSA bl izfØ;k eas 

cuus okyh nks eq[; xSlksa ds uke fyf[k;sA

9.	 Define the term 'ignition temperature'.	 	 	 	  

^Toyu rki* dks ifjHkkf"kr dhft;sA

10.	 Where do we use fuel oil in industries?	  

ge m|ksxksa esa b±èku rsy dk iz;ksx dgk¡ djrs gSa\

11.	 Name the different types of coal.				     

dks;ys dh fofHkUu izdkjksa ds uke fyf[k;sA

12.	 Write any two ways that can help to check global warming.		   

fo'o Å".ku dks lhfer djus esa lgk;d dksbZ nks mik; fyf[k;sA

13.	 Sodium when kept in air catches fire spontaneously. How and why does it occur?	

lksfM;e /krq ok;q esa j[kus ij Lor% @ vpkud ty mBrh gSA ;g dSls vkSj D;ksa  

gksrk gS\

1

1

1

1

1

1

1

2

2

2



(4)VIII-SCIENCE & technology

14.	 Write any two characteristics of liquid pressure.				     

nzoh; ncko dh dksbZ nks fo'ks"krk,¡ crkb,A

OR (vFkok)

	 Why do we not feel the large atmospheric pressure acting on us all the time?	

ge vius Åij gj le; yx jgs fo'kky ok;qeaMyh; ncko ls izHkkfor D;ksa ugha gksrs\

15.	 Why are objects moving with high speed, through fluids, given special shapes? 

From the following, form two pairs of objects that have some similarity in their 

shapes : 									       

	 aeroplane, fish, birds, boat	 	 	 	 	 	 	 	

fdlh nzO; esa rhoz xfr ls pyus okyh oLrqvksa dks fo'ks"k vkdkj D;ksa fn;k tkrk gS\ 

fuEufyf[kr oLrqvksa esa ls nks ,sls ;qXy cuk;sa ftuds vkdkj esa dqN lekurk gS %		

	 ok;q;ku] eNyh] i{kh] uko

16.	 Define the term 'strong electrolyte'. Give any two examples of such electrolytes.	

izcy ^fo|qr vi?kV~;* dh ifjHkk"kk fyf[k,A buds dksbZ nks mnkgj.k nhft,A

17.	 Write three effects of chemical reactions taking place at electrodes and within 

the solution due to passage of an electric current.						    

bySDVªksMks rFkk lqpkyd foy;uksa esa fo|qr /kjk ds izokg ls gksus okyh jlk;fud izfrfØ;kvksa 

ds rhu izHkko fyf[k;sA

18.	 Shamita, a doctor, was touring Nepal, with her family, when a very devastating 

earthquake hit it. She and her family had a lucky escape but there was widespread 

damage and destruction all around. Shamita and her husband immediately 

contacted the 'help-teams' and did their best to help the quake victims. They 

counselled the survivors and also advised them about the, precautions they need 

to take during the 'after-shocks' and during any subsequent earthquake.		

(a)	 State any four precautions that can be taken during an earthquake.		

(b)	 Write two of the values displayed by Shamita and her husband.		  
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MkDVj 'kferk vius ifjokj ds lkFk usiky esa Hkze.k ij Fkh tc ogka ,d vfr fouk'kdkjh 

HkwdEi vk x;kA og vkSj mudk ifjokj HkkX;'kkyh jgs ysfdu muds pkjksa vksj vR;kf/d 

fouk'k rFkk nq?kZVuk,¡ gks xbZ FkhA mUgksaus rFkk muds ifr us rRdky lgk;rk nyksa ds lkFk 

lEidZ fd;k vkSj HkwdEi ls izHkkfor yksxksa dh ;FkklEHko lgk;rk dhA mUgksaus mÙkjthfo;ksa 

dks u dsoy mfpr ijke'kZ fn;k cfYd mUgsa HkwdEi ds ckn ds >Vdksa rFkk Hkfo"; esa vk 

ldus okys HkwdEiksa ls cpko ds fy;s mfpr lko/kfu;ksa ls Hkh voxr djk;kA	  

(a)	HkwdEi ds le; yh tkus okyh dksbZ pkj lko/kfu;ka crkb;sA	  

(b)	'kferk rFkk muds ifr }kjk iznf'kZr dksbZ nks izfrewY; fyf[k;sA

19.	 Describe (without diagram) a simple activity to get an estimate of the atmospheric 

pressure.								         

fcuk fp=k cuk,] ok;qeaMyh; nokc dk vuqekfur eku izkIr djus ds fy, ,d ljy 

fØ;kdyki dk o.kZu fyf[k,A

20.	 Write three ways each of 	  

(i)	 reducing and 	  

(ii)	 increasing friction.	  

?k"kZ.k dks 	 

(i)	 de djus rFkkA								      

(ii)	vf/d djus dh rhu&rhu fof/;k¡ fyf[k,A

21.	 (a)	 How does friction help us while walking on the ground?		  

(b)	 Why is it desirable to reduce friction between the moving parts of a machine?	

(a)	iQ'kZ ij pyus esa ?k"kZ.k fdl izdkj lgk;d gS\						    

(b)	e'khu ds xfr'khy iqtks± ds chp ?k"kZ.k dks de djuk D;ksa okaNuh; gS\

22.	 (a)	 Draw the diagram of the flame of the lighted candle and label its three zones. 

(b)	 Which zone of the candle flame is (i) coldest (ii) hottest?	 	 	 	

(a)	eksecÙkh dh Tokyk dk fp=k cukb, vkSj mlds rhu {ks=kksa dks ukekafdr dhft,A	

(b)	eksecÙkh dh Tokyk dk dkSu&lk {ks=k (i) lcls de xeZ gS (ii) lokZf/d  

	 xeZ gS\
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	 Alternative question for visually challenged students in lieu of Q. No. 22	  

n`f"V izHkkfor fo|kfFkZ;ksa ds fy, iz- 22 dk oSdfYid iz'u	  

(a)	 Write the names of three zones of candle flame.	  

(b)	 Which zone of candle flame is 	  

	 (i)	 the hottest	  

	 (ii)	 the coldest	  

	 (iii)	 luminous	  

(a)	eksecÙkh dh Tokyk ds rhu {ks=kksa ds uke fyf[k,A	  

(b)	eksecÙkh dh Tokyk dk dkSu&lk {ks=k	  

	 (i)	lokZf/d xeZ gS	  

	 (ii)	lcls de xeZ gS	  

	 (iii)	ihys jax dk gS\

OR (vFkok)

	 What happens when there is incomplete combustion?					   

vkaf'kd ngu ds D;k ifj.kke gksrs gSa\

23.	 (a)	 Write the names of two greenhouse gases.						    

(b)	 Write any two causes of increase in concentration of greenhouse gases in the  

	 atmosphere.							        

(a)	 fdUgha nks ikS/k&?kj xSlksa ds uke fyf[k,A							     

(b)	ok;qeaMy esa ikS/k&?kj xSlksa dh ek=kk c<+us ds dksbZ nks dkj.k fyf[k,A

24.	 (a)	 Define the term 'refining of petroleum'.	 	 	 	 	 	  

(b)	 Write the names of any four petroleum products and give one use of each.	  

(a)	isVªksfy;e ifj"dj.k dh ifjHkk"kk nhft,A	  

(b)	isVªksfy;e ds fdUgha pkj la?kVdks ds uke fyf[k, vkSj izR;sd dk ,d&,d mi;ksx  

	 crkb;sA

OR (vFkok)
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	 (a)	 Wood is a major renewable natural resource. However, it is not desirable to  

	 burn wood to produce heat. Why?					     

(b)	 Why is natural gas regarded as a cleaner fuel?		  

(c)	 Why is the use of biomass, as a fuel, more desirable?	  

(a)	ydM+h ,d v{k; izkÑfrd lalk/u gSA ysfdu Å".krk (xehZ) izkIr djus ds fy;s  

	 ydM+h tykuk okaNuh; ugha gSA D;ksa\		  

(b)	izkÑfrd xSl dks ,d vf/d LoPN ba/u D;ksa ekuk tkrk gS\	 

(c)	 b±/u ds :i esa tSoh;nzO;kas (ck;ksekl) dk iz;ksx vf/d okaNuh; D;ksa gS\

25.	 Write any five characteristics of a good fuel.			    

,d vkn'kZ b±èku dh dksbZ ikap fo'ks"krk,¡ fyf[k,A

OR (vFkok)

	 (a)	 Write the three conditions that are necessary for combustion.		   

(b)	 Flame of burning candle goes off when we blow over it strongly. Give  

	 reasons.	  

(a)	ngu dh rhu vko';d fLfFkfr;ksa dks fyf[k,A	  

(b)	tyrh eksecÙkh dh Tokyk T+kksj ls iwQd ekjus ij cq> tkrh gSA dkj.k crk,¡A 

26.	 (a)	 Define force.	  

(b)	 State the possible effects of	  

	 (i)	 equal and opposite balanced forces	  

	 (ii)	 unbalanced forces 	  

	 on a given object.	  

 (a)	cy dks ifjHkkf"kr dhft,A	  

(b)	fdlh oLrq ij	  

	 (i)	 cjkcj vkSj foijhr larqfyr cyksa	 

	 (ii)	vlarqfyr cyksa	  

	 }kjk gks ldus okys izHkko crkb,A
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OR (vFkok)

	 (a)	 Give two examples each of (i) contact (ii) non-contact forces.	  

(b)	 List any three effects which can be caused by a force on an object.	  

(a)	(i) lEidZ rFkk (ii) vlEidZ cyksa ds nks&nks mnkgj.k nhft,A		   

(b)	cy }kjk fdlh oLrq ij gksus okys dksbZ rhu izHkko crkb,A

27.	 Draw and describe the process by which we can electroplate copper on 

a zinc plate.	 	 	  

,d ftad IysV ij dkWij ds fo|qrysiu dh fof/ dk fp=k&lfgr o.kZu dhft,A

	 Alternative question for visually challenged students in lieu of Q. 27	  

n`f"V izHkkfor fo|kfFkZ;ksa ds fy, iz- 27  dk oSdfYid iz'u	  

(a)	 Give the meaning of the term electrolysis.	  

(b)	 Describe the process (without diagram) by which we can electroplate  

	 copper on a zinc plate.	 	  

(a)	bySDVªksyhfll dk D;k vFkZ gS\	  

(b)	,d ftad IysV ij dkWij (rkacs) ds fo|qrysiu dh fof/ dk (fp=k ds fcuk) o.kZu  

	 dhft,A

OR (vFkok)

	 (a)	 What are insulators of electricity? Give two examples.	  

(b)	 Draw a Labelled diagram of a Voltaic cell.			    

(a)	 fo|qr jks/d D;k gS\ nks mnkgj.k nhft,A	  

(b)	,d oksyVsd lsy dk ukekafdr fp=k cukb,A

	 Alternative question for visually challenged students in lieu of Q. 27	  

n`f"V izHkkfor fo|kfFkZ;ksa ds fy, iz- 27  dk oSdfYid iz'u	  

(a)	 What are insulators of electricity? Give two examples.	  

(b)	 Describe the structure of a voltaic cell.		   

(a)	 fctyh ds fo|qr jks/h D;k gSa\ nks mnkgj.k nhft;sA	  

(b)	oksyVsd lsy dh lajpuk dk o.kZu dhft;sA

5
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section - B ([kaM&c)

28.	 PPLO is also known as			    

(a)	 pneumonia	 (b)	 Mycoplasma		   

(c)	 paramoecium	 (d)	 euglena	  

PPLO  dks ;g Hkh dgk tkrk gS %								      

(a)	 fueksfu;k	 (b)	 ekbdksiyklek				  

(c)	 isjkfef'k;e	 (d)	 ;qxyhuk

29.	 Sloth bear is facing a high risk of extinction in the medium term. It is, therefore, a 	 

(a)	 Vulnerable species	 (b)	 Endangered species		   

(c)	 Out of danger species	 (d)	 extinct species	  

jhN ds eè;e vof/ esa foyqIr gksus dh vR;kf/d laHkkouk gSA blfy;s jhN ,d 		  

(a)	detksj iztkfr	 (b)	 yqIr iztkfr		   

(c)	 [krjs ls ckgj iztkfr	 (d)	 foyqIr iztkfr				  

dk izk.kh gSA

30.	 What is nucleoplasm?	  

u;wDyksIykle D;k gS\

31.	 Give full form of BNP.	 	 	 	 	 	 	 	

BNP dk iw.kZ :i fyf[k;sA

32.	 Give one example of a biological nitrogen fixer.	  

tSfod ukbVªkstu fLFkjd dk ,d mnkgj.k nhft;sA

33.	 Rahul saw his aunt buying milk from a local milk vendor, for her small kid. The 

milk vendor was keeping the milk uncovered and selling it on the street. He advised 

his aunt that she should only buy pasteurized milk for her small baby. He also 

enlisted the harms of buying milk from the vendor, as such a milk is likely to be 

diluted or adulterated.								      

(a)	 How does pasteurization protect milk?	 	 	 	 	 	 	

(b)	 Write any two values exhibited by Rahul.						    
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jkgqy us viuh ekSlh dks vius NksVs cPps ds fy, ,d LFkkuh; nw/ foØsrk ls nw/ [kjhnrs 

ns[kkA mlus nw/ [kqyk j[kk gqvk Fkk o og mls lM+d ij gh csp jgk FkkA jkgqy us viuh 

ekSlh dks lykg nh fd mls dsoy ik'phÑr nw/ gh [kjhnuk pkfg,A mlus LFkkuh; foØsrkvksa 

ls nw/ [kjhnus dh gkfu;k¡ crkbZ D;ksafd ,slk nw/ iryk ,oa feykoVh Hkh gks ldrk gSA 	

(v)	ik'phdj.k nw/ dh j{kk dSls djrk gS\							     

(c)	jkgqy }kjk iznf'kZr dksbZ nks izfrewY; fyf[k,A

34.	 What are communicable diseases? Give any two factors by which they can spread.	
lapkjh jksx D;k gS\ dksbZ ,sls nks dkjd crkb;s ftuds }kjk ;s jksx iSQy ldrs gSa!

35.	 Conserving biodiversity is becoming important. Why do you think we need to 
conserve biodiversity?							       	
tSo fofo/rk laj{k.k egRoiw.kZ gksrk tk jgk gS\ vkidks D;ksa yxrk gS fd tSo fofo/rk  
laj{k.k vko';d gS\

OR (vFkok)

	 What is Migration? Why do the animals need to migrate?				  
ekbxzs'ku D;k gS\ tkuojksa dks izolu djus dh vko';drk D;ksa gksrh gS\

36.	 Draw a diagram of an animal cell and label, on it, the		
(a)	 Powerhouse of a cell					      
(b)	 Organelle which synthesise protein	  
,d tarq dksf'kdk dk fp=k cukb;s bl fp=k esa fuEu Hkkxksa dks ukekafdr dhft;s	  
(a)	lsy dk ikojgkml	  
(b)	xzUFkh tks izksVhu cukrh gSA

	 For visually impaired students in lieu of Q. 36	  
ç- la- 36 ds LFkku ij n`f"V izHkkfor fo|kfFkZ;ksa ds fy, oSdfYid iz'u	  
Give function of the following 	  
(i)	 Vacuole	 (ii)	 Cilia	  
(iii)	 Golgi complex	  

fuEu ds mi;ksx crkb;s %	  

(i)	 fjfDrdk	 (ii)	 lhfy;k	  

(iii)	xksyxh lfXeJA
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37.	 When are chromosomes found in the cells? Why are they important?	  

xq.kl=k dksf'kdk esa dc ik;s tkrs gSa\ og vko';d D;ksa gS\

38.	 What are endemic species? Write the main causes which can lead to their 

extinction.	  

LFkkfud (tkrh;) iztkfr;k¡ D;k gSa\ muds foyqIr gks ldus ds eq[; dkj.k fyf[k;sA

OR (vFkok)

	 Explain any five domestic consequences of deforestation.	 	 	 	

ouksa dh dVkbZ ds dksbZ ik¡p ?kjsyw ifj.kkeksa dh O;k[;k dhft;sA

39.	 Name the following :					      

(A)	 Method of prevention of	  

	 (i)	 Tuberculosis	 (ii)	 Ringworm	  

(B)	 Mode of transmission of 	  

	 (i)	 Influenza	 (ii)	 Rabies	  

(C)	 Disease caused by 		   

	 (i)	 Bacteria in cattle	 (ii)	 Virus in Monkeys		   

(D)	 Disease causing rice grains causing them to become greenish black	  

(E)	 Causative organism of 	  

	 (i)	 Citrus canker	 (ii)	 Red rot of sugarcane	  

fuEufyf[kr ds uke fyf[k;s %	  

(A)	jksdFkke dh ,d fof/	  

	 (i)	 risfnd	 (ii)	 nkn dh	  

(B)	lapj.k dk <ax	  

	 (i)	 bUÝyw,tk	 (ii)	 jsfct+ ds	  

(C)	fuEu }kjk gksus okyh fcekfj;k¡	  

	 (i)	 i'kqvksa esa thok.kq	 (ii)	 canjksa esa ok;jl	  

(D)	og jksx tks pkoy ds nkuksa dks gjk o dkyk cukrk gSA	 

(E)	u"Vhdj.k ds dkjd tho	  

	 (i)	 flVjl dSadj	 (ii)	 xUus ds yky jkWV
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OR (vFkok)

	 (a)	 What are antibiotics?	  

(b)	 What is a vaccine and how does it work? What are the two ways of  

	 administering a vaccine?	  

(a)	izfrj{kd (izfrfiaM) D;k gS\	  

(b)	Vhdkdj.k D;k gS vkSj og dSls dke djrk gS\ Vhdkdj.k dh nks fof/;ka crkb;sA


